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XEA 65 | 67 | 132| |ZEA& 13 | 14 | 27 ERONER 2 2 4 BH1 1 1
it TR e 14 | 23 | 37 Bz 11| 14| 25 BEXE 3 3 E i3 1 1
ZEEE 14 | 18 | 32 fB2iE 7 | 10 | 17 B2 E 2 1 3 EEH 1 1
FRIK 2 2 BEXRXE 6 | 10 | 16 XERE 2 1 3 EX 1 1
f etk 1 1 1 EES 8 | 4 | 12 BT 2 2 BEEHR 1 1
RESEI% 1 1 EEZEA 6 6 | 12 HEE 1 1 2 EMEX 1 1
5 A B 1 1 HEMK 4 5 9 B&RE2 2 2 TR B 1 1
s 3 1 1 EEETE 2 7 9 =] 1 1 HEFE 1 1
AL S 1 1 XEEF 2 5 7 EEH 1 1 =057 1 1
TEXE ik 1 1 B E4%5 4 2 6 [E %= 1 1 B XE 1 1
BE&A007 1 1 2 ] 3 3 6 TEIEE 1 1 B Ak 1 1
BAA777 1 1 BHE 4 1 5 2@ 1 1
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XEA 69 | 71 | 140| |EEE 18 9 | 27 EE# 1 3 4 1B e 1 1
REEE 13 | 14 | 27 ERaES 13| 6 | 19 SEHOHE 2 1 3 HXE 1 1
i TR 4 121 7 | 19 EEZEA 10| 8 | 18 8 2 1 3 MEFE 1 1
AR 2 2 fB2iE 8 7 | 15 TERE 3 3 fRisES 1 1
TEE ik 1 1 2 A 5 | 10 | 15 HETE 2 2 BiEg 1 1
CBIK 1 1 EAETE 3 4 7 fEE k5 2 2 =P 1 1
AL S 1 1 EES 2 | 4 6 BEx 1 1 2 Lk 1 1
FRIK 1 1 ] 3 2 5 BEK 1 1 2
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INET 99 | 97 | 196 | |ERAER 1 3 4 XERE 1 1 = 186 | 174 | 360




4A16H FEEESAIH IHEEE

(R HEEHE) (RS} ETBIES) B (0SS - 2 )11 - IR - S 1L - 04 - - B )
B4 B | M EP O 4 B | M| EP| OB o4 B | =P R O 4 B | M| EP| OB
XEA 57 | 69 | 126 | [dbZE=ZEA 14 | 17 | 31 x5 3 3 BEXRX 1 1
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